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Area of an Isosceles Triangle

The length of each of the two equal sides of an isosceles triangle is 8 feet. Determine the area if the

base measures 13 feet. 

The base of an isosceles triangle measures 30 yards. What is the area of the isosceles triangle if the two

equal sides measure 39 yards each?
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Find the area of each isosceles triangle. Round your answer to two decimal places.
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The length of each of the two equal sides of an isosceles triangle is 8 feet. Determine the area if the

base measures 13 feet.

The base of an isosceles triangle measures 30 yards. What is the area of the isosceles triangle if the two
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